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25 235

iz
PRSI ﬂl%ga 4 (232 /HK)
ool MSSANR L dasy CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SEEEEREEEESEE LT
8,000 »2H x30L 480
202 04 d| 420 1,680 A 1,260
01 2L Y] 420 1,680 A 1,260
Od&dUia &I A oL P 8 LY
ol (22) 70,000 »2H 3 420
301 Bt ™M= 436,816 385,728 51,088
VU= - 22242 436,816 385,728 51,088
=10 318,000
- NE X} 55,000,000 *1H 55,000
- d=(52) 50,000,000 *1&H 50,000
- d5=(A-12) 45,000,000& *2H 90,000
- d4=(A-22) 42,000,000 *2H 84,000
- &84 (A-32) 39,000,000 *1H 39,000
OZdHl 38,000& x6H 60 13,680
Oz =&l 200,000 x6H 73] 8,400
O&X =&l 700,000& x6H 43| 16,800
O FH 20,000,000& 20,000
o223 150, 000& *6H 63| 5,400
(@ETN = 1,000,000 *3H *33| 9,000
O=2JtExE 300,000& x1H x12& 3,600
O &l E8= 500,000 x5 2,500
OAMNSEE BY3 261,000,000& *12% 31,320
(@RTIE==pel ] 150,000 x6H 25 %23 3,600
O&H| 2| 1,000,000& x2=& 2,000
Oulstal=d &3l 1,000, 000& *13] 1,000
O 29| 956
- g=A MEEE(MYIIZEE, FEX S)F
21 d| 500,000 500
- 8D &= 38,0002 *1CH+x12& 456
Odlsd Ua &or & 20 s+ H &I
70,000 *8JH CH 3 560
245 Mtz N 684,590 674,720 9,870
S OER OIA MSHA HE ¥ & 577,590 629,720 A52,130
202 044l 6,190 8,320 N2,130
01 2LHHI 6,190 8,320 N2,130
O2A= HEHEAI X2 Jesxd S R
s 20 H(22) 70,000& *11 770
Odeted M=sls &EItda=H ols
1,590, 000& 1,590
Odetedr MEHSEUEN St SE oIS
1,590, 000& 1,590
OZMAH=EUE &I o1 280,000 280
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2N
X ZH -
L= B

el

S22 =
M4 SH(2std22/HK)
23S MU X2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O%E o9 ASsAN 20 05 92 48
SO (22) 70,000& 2«2 *73| 1,960
307 glz2tol & 571,400 621,400 A50,000
04 DIZHHALALSE E X 571,400 621,400 A 50,000
OHMb59sl dMetd e M=sdal &0t X
120,000, 000& 120,000
O&He ZASHEUS MHal & FIXA
5,000,000& =43| 20,000
OHM3s dMctde MaisUsd It XN
70,000,000& 70,000
Odg ZUMe M=sUz FIHXH
10,000, 000& 10,000
Od= Z0e 22 &= Uzl Ha X
5,000,000& 5,000
OdY HAUMEHSUH=E It N
7,000,000 7,000
Odctg HBOoIMEMSUHEA It X
3,000,000& 3,000
O&H? Ol MEMSUHE S=E It X
383,330& 305 = +23! x80% 18,400
O3 MsdAM HE E25E 224 XA
500,000& x20& = 10,000
OB 2= -8 S5 20z X
20,000,000 20,000
OtEAXLY & ASIHI 28U =2 O
3 A& 10,000, 000& 10,000
OB &= -3 HUAWME X
10,000, 000& 10,000
O&= ZHeIM=CHal &I XI& 3,000,000& 3,000
O&d=2 =2 Mz X 15,000, 000& 15,000
Odectgd el Max=sHa &1 XA
10,000, 000& 10,000
OgEdXe= ZFdY FAF0F2U2 N
z K& 20,000,000& 20,000
Odctg: AZx=& HoE=SU=E Ha X&
15,000, 000& 15,000
OHNI3BE MAUAEZXIAD BHAZCHE & H 102
2 M=IXMHE M1 dLHa W= XA
30,000, 000& 30,000
OHl12l Lidith &= dEXs 52U Wl
A& 10,000, 000& 10,000
O2021@ disd 2 E =28 dNEgdE R
Xl 50,000, 000& 50,000
02021 =72 d&8 a X
100,000, 000& 100,000
OStEAXH Al =3 BHECQEUS X
15,000, 000& 15,000
= &2 MSA WA 107,000 45,000 62,000
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S22
A 2H(25L22/HR)
2E MU 1Y
= = SHE|
AW E(EA) - NP - BES e
307 eI2+0l & 107,000 45,000
04 QIZHSH ALA B X 107,000 45,000
OSHZEIFI =20 HNOEEZ Hal Mzl A
2l 5,000,000 5,000
OZ2TZ 3| & 20 2T Ha Mz X
15,000,000 15,000
OSHI AU IHIAZZS M= XA
10,000,000 10,000
ONEsI &) 2YUE =78 Ha X
10,000,000 10,000
OE3|Z)| MaHs et2U3 Hax
5,000,000 5,000
OSHZ UISE3IX HSWa Mzl X
7,000,000 7,000
OSH2 H3|&)| HHSQIEWS HE XA
5,000,000 5,000
OL= MSUa MWa ¢ &I X
50,000,000 50,000
SIS ¥ MENS 84 542,324 548,682 A6,358
7| 199, 136
[= 3,053
z 340,135
SNHE 84 XY 55,000 55,000 0
308 A XISHHSOIA 55,000 55,000 0
08 MEI|Z0UHEEE 55,000 55,000 0
o2 EJI2s(dsd) 4380 I 26,000
- DEsN 8,000,000 8,000
- =81 1,000,0002! 6 6,000
- Y8 XN 500,000 *204 W+ 12¢ 12,000
ORad 2T 45D 1 25,000
=) 2,000,0002! 62 12,000
- EEF A0UE BUE HEXE, 0tx
2,000,000 x50 1 10,000
- 223X ZYUXY IHR(ERE)
500,000 x6°2 3,000
QNHS ATXx T2 2 X2 (2AH])
40,000 x40 & 2«50 Al 2 %50% 4,000
MEHe T2 29 60,680 60,200 480
201 L2 H 480 0 480
01 AFR 22| H 480 0 480
OMeEls T2 29 22 odl
20,0002 2% x123] 480
307 @I2+0l & 60,200 60,200 0
02 QIZIA AN B X 60,200 60,200 0
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SN RHBBHSD

H: MY SH(2FLEZ/HR)
ool SIDAS U MBS 4 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ondzeY 283 ZAIE XN 400,000& x12& 4,800
OMEIE el A9|na 29 X
200,000 »40H 8,000
OMExX E2 29 X&
300,000 QI S B x12& 32,400
ONUE MesysIZ2x 29 (#3A4 0{20|
LA, 002 4l) 3,750,000 4= 15,000
MEHESXNELL 4 XA 33,840 35,940 A2,100
307 giztol A 33,840 33,840 0
02 AI2tAAMAIE E =X 33,840 33,840 0
OMESSAEA 2P HSHA I =&
=2 HH X 20,000& x 128 x5 x12& 14,400
OMESMSAEA T2 HMSHA I =25
2 (22) 70,0002 12 63| 5,040
OMES AL Sel=4H X&
100,000 122 x12& 14,400
MEHENAY 2H 8,100 8,100 0
307 2iz2tol A 8,100 8,100 0
02 QIZ2FA AAIE E X 8,100 8,100 0
OMETSNA 2H(HHFE HER)
900,000 +x9= =2 8,100
UBIMEY S TA A (2SXR)(MLH MEHS 175,392 173,808 1,584
| X BH X K&
J| 87,696
= 87,696
307 QI2t0| ™ 175,392 173,808 1,584
J| 87,696
= 87,696
02 QI2tAAMAIE E =X 175,392 173,808 1,584
Ot MEt XIS X B XIAHS
2,436,000 x62 x 1204 & 175,392
J| 87,696
= 87,696
H24A MEHSXNEX BIX(BSX)(H2H MSs 175,392 173,808 1,584
25 12
J| 87,696
= 87,696
307 2Iz2t0| & 175,392 173,808 1,584
Jl 87,696
= 87,696
02 QIZFEAAIE E X 175,392 173,808 1,584
OEsadY MEH =X BIEXIAFE
2,436,000 6 x 121 & 175,392
J| 87,696
= 87,696
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AN 22Z ML
H: MY SH(2HL2Z/HK)
Sl DN L MBS S4 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AXX AH0IEEH XN (WS HIRH AIEAY) 33,920 41,826 AT7,906
J| 23,744
< 3,053
s 7,123
301 LEHZ 33,920 41,826 AT7,906
J| 23,744
< 3,053
s 7,123
01 M2I2EZE+06l= 33,920 41,826 AT,906
OAmZ=2% 0lEA XA A
80,0003 *50H 8 & 32,000
J| 22,400
< 2,880
s 6,720
OFHel AZ=2E 0lE2A XN ALY
80,0003 *3F x84 & 1,920
J| 1,344
< 173
i 403
HE2AZH (222 M=) (IIEH/IIE 26,160 35,160 A9,000
Jl=&l 26,160 35,160 29,000
Jl=dl 26,160 35,160 A9,000
201 Let24d] 12,360 13,320 A 960
01 At 2teltl 12,360 13,320 A 960
ON2Y LE2IHI 50,0003 x17H 128 10,200
Odz, X 2=s& 10,000& x 185 123 2,160
202 044l 10,200 18,240 A 8,040
01 SLHOIYI 10,200 18,240 A 8,040
OB +8 AL X0y
50,000 x17H «12& 10,200
203 YR =&l 3,600 3,600 0
04 EASIYRFEH 3,600 3,600 0
ORN2EYE=4HI 300,000& 122 3,600
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